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" . The pressure of a liguid measured

with the help of a piezometer tube s :

A

(D)

: Macuum pressure

Gauge pressure

Absolute pressure

Atmospheric pressure”

When afluidis ﬂd;;r\:ring through a pipe,

the velocity of the liquid is -

A
e
(C)
(D).

3. -The

Maxrmum at the Center and“*'-‘ -

minimum nearthe walls

Minimum at the center‘ and

“ maximum near the walls:

Zero at the center and
maximum near the wails :
Maximum at the center and

zero near the walls

‘hydraulic mean depth for a~

circular pifpe of diameter d is :

*)

- ®
. (C)
(D)

(A)

(B)

416
d/4
a
d

In case of flow through parallel pipes :

The head loss for all theplpes ‘ -

is same

The;_ head loss is_dji!fferént“in o

different pipes

'SZ-2A/9

)

. B)

The head loss:is the sum of
head Iosses in the vartous
plpes e o
(D) None of the above
Thé critical depth for a channel is
': ‘gwen by
" J/z .
(A) 9
PN
@)
EEAN g 7 !
(YA
C —
(C) 3
(gt %o
D - :
o (4"

When the Maéh n'urhbei" is less than

A)

(B)

(C)

o

“unity, the flow is called ;

Sub-somcflow . |
Sonicflow -
Super-sonic flow

Hyper-sonic flow

The power developed bya turbine s :

®
®)

©

(D)

Directly proportional to H"’2
Inversely pro‘po'rti‘oh:a_[ toH1?
Directly proportional to H3?

invérsely proportional to H3/2

Contd.

iy p st

—— R



10.

1.

Which ‘of the following pumps is
suitable for small discharge and high
head ? .

(A) Centrifugal pump

(B) Axialflowpump -

(C) Mixed flow pump..

(D) Recrprccatlng pump

The ratlo between the area of crop
|rrrgated and quantrty of water
required during its entire period of the
growth, ie knownas:

(A) Delta:

(B) Duty
(C) _Base perrod

(D) Crop perrod

The graphrcal representataon of

average rainfall and rainfall excess
(i.e., rainfall minus infiltratich) rates
over specified areas during
successive unit time intervals during

a storm is known as :
(A) Hydrograph
(B) Unit hydrograph

" (C) Hyetograph
(D) 'None ofthe above

Accordrng to Lacey s equatlon the
scourdepthisequalto: =

. 0.4}@)%

8Z~2A/%

12,

® 047[2)°
[ \y.;;
©) 0.47% '
Y%
(D) _0.47$ °

The phenomenon oceurring in an
open channel when a rapidly flowing

.fstream abruptly changes to a slowly
flowing stream causrng a dlstlnct rise

" ofliquid surface, is

(A) Waterhammer

. (B) - Hydraulicjump

13.

14,

(C) Critical drscharge ;
(D} Noneofthe above

Dimensions of the dynamlc vrscosrty
(n) are: '

(A) MLT™2

@ ML

- (©) ML‘1T"1

(D) None ofthe above |

When a canai is camed over a natural

drarnage the structure provrded is

known as :

(A) Syphon

(B) Aqueduct

(C) Super passage
(D) Syphon-aqueduct.

{Tum over)



15.

.16

:a?n

17.

18.

i SZi~

The maximum vacuum created atthe

summit of a syphon is
(A) 2.7mof water
(B) 7.4 mof. Water
(C) 74 mm of water

(D) 7Amofwater

An ideal flow of a fiquid obeys .

‘(A)’*" Continuity equation . =

(B) Newton s law of vrscosnty
(C) Newton S second Iaw of motton

(D) Dynamic.viscosity law: ;

Reynold’ s number is the Tratio of
mertlafforce and o
(A) VISCOblty )
(B) Elastlcrty |
(C) Gravitational force |

(D) Surfacetension

leferent[al manometers are used to
measwe:
(A) Pressure in water channe!s
| 'pipes etc.
(B) Difference in pressure at two
points |

(C) Atmosphericpressure
(D) Very low pressure
2AI9;

-(4)

19. ! nghestdam inIndia, is

20.

P

A Hirakud dam
(B} Nagarjuna Sagardam
(C) Idukkidam
(D) Bhakra dam

IfC,,. C C andC arethehydraullc

’ “coeﬁrments ofan orlt" ce then

] i ix

L LA),.C,=C,C,

21.

12/
(B) Cr"1‘+'Cv’/Cd'
(C) Cvfcc+cdf'=-
(D) C,=C,/C,

Forthe stablllty of a structure agalnst

seepage pressure accordlng to

" Khosla's Creep Theory the critical

' .gradlent is :

-..1(A) 0.0

22.

(A_) ~Toremove S|It

(B 0.5

(C) 1.0
(D) 0.75

The main functlon of a dlversron head

works of a canal from a rlver is

(B) To. control floods
(C) Toraisewater level

(D) Tostorewater

-~ Contd.




23. The standard height of a standard
raingaugeis;.
A 10om |
(B) | 20em.., .
(C) 30cmiii - pns
(D) -40cm.. . |
24. For determination of average annual
precipitation inacatchment basin, the
.. bestmethodis::
(A)  Arithmetical Method

(B) Thiessen's mean Method

28,

(C) Isohyetal Me_thod
(D) Noneofthe above
25. Isohytes are the imaginary lines
" joining the peinfe'bf equal:
@ Pressue
| (B) Helght o
(C) Humldaty

(D) Rainfall | 29.

26. For Iargemqlties,:. the suitable
method for forecasting population
is
(A Aritmetcalngrease method

(B) Graphical method .

SZ-2A/9 (3),

27.

-(C) . Geometrical increase method.

© (DY Comparative method

ik ;

~ The .maximum :permissible total

solid content :in “water® for

domestic purposes should not

exceed :
(A) 300 ppm
(B) 400 ppm

| (C) "‘{500 ppm e

The maximum permlssm!e ¢hlorine ‘

content for publtc supphes should be

between _ |
(A) 01’[002me
(B) 03t004r313r‘ﬂ__..\T

(C) 1.2t04.0ppm - -

(D) 65t08.0ppm

The bacterias which req uire oxygen
for their survival is known as :

(A) Anaerobic bacteria

'+ {B) .Pathogenic bacteria "’

(C) Non pathogenic bactena

(D) Aeroblc bactena



30. The self cleaning velocity,
recommended for Indian conditions,
in order to prevenf settling down
~'sewage at the bottom or on the sides
- of alarge seweris ;.

(A)..0.25mfs ...
-(B) 0.50mfs

(C) 0.75m/s

(D) 1.5m/s

31. Sludge tr‘eat’menfis 'mailnly do'ne in

orderto: .

(A) Stabilize the organic matter
.. (B) Destroy the pathogenic
_ ‘bactewria ‘ | | |
. (C) RédUce the water cohtenf

(D) Al 6fthe above |

32. Aerobic baéterias(:l

(A) Flourishin the presence of free
oxygen
(B) Consume organic matter as
their food
" (C) Oxidise organic matter in
- sewage
(D) Al ofthe above .

33." Most commonly.used pump for lifting
water_in water s_up_p_ly mains, is :
(A) Reciproéaﬁﬁg pUmp
(B) Axal flowpﬁmb

SZ—2A19'

(6)

34.

35.

36.

37.

(C) Rotarytype pump

(D) Centrifugal pumps

By boiling water, hardness can be
removed if itis due to:

(A) Calcium sulphate

(B) Calcium bicarbonate = =

(C) Magnesium sulphate

. (D), -Calciumnitrate

Aeration of water is done to remove :
(A) Odour -

(B) Colour

(C) Bacterias

(D) Turbidity o

Increase in population of a rapidly

growing city, may be estimated by :
(A)  Avrithmetical méan fnethiod
(B) Geometric grouth method
(C) incremental in¢rease method

(D) Graphical comparison method

During treatment of water,

" sedimentation is done *

' (A) Before filtration

(B) Afterfiltration
(C) Simultaneously with filtration

(D) Along with'chlorination

" Contd.
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38.

39.

40.

41.

®

- (B) 7.5%

An area is declared drought affected

if‘its mean rainfall is less than ;.
A).
(B)
(©)
(D)

50%
60%
75%

85%

‘fiﬁélﬁérm‘iés’ibile pH value for public

" water supplies may range between :

(A) 45-55
55-65
(C) 65-85

(D) 7.0-85

Water losses in water supply is

assumed as:

(A) 5%

R U

S (C) 10%

(D) 15%

The soil transported by wind is called :

(A)
(B)
(C) Alluvialsoil . . &

D)

Aeolian soil

Marine soil

Lacustrinesoit . . .- %

SZ-2A/9

(7),

42.

43.

44,

. .(A)

A soil sample is having a specific-
gravity.of 2.6 and a void ratio.of 0.78.

The water content in-percentage

'required to fully saturate the soil at

that void ratio is :
(A) 10%

(B) 30%

(C) 50%

(D) | 70%

The ratio of the unconfined
cbmpressive strength of undisturbed
soil to the unconfined compressive
strength of soil in a remoulded state,
is called : |
_'Se'nsitivit'y |

(B)
(C)
(D)

Thixotropy
Relative strength _:'_:

None of the above

The ratio of settlement at any tinﬁe,
t to the final settlement is known
as:
Q
(B) .
(C)
(D) .

Compression ratio ,
Coefficient of consolidation
. Compression index

Degree of consolidation::

(Turnover )




45."

The suitable method of finding the

- ‘shear strength of very plastic

.cohesive soils is by means of :

46.

47.

“(A)*‘Conetest

(B) Penetration test
(C) Vanesheartest
(D) Torsional shear test

The coefficient of earth pressure at

restis given by :

(A w(1=p)
By (1+ )i
{(C) (1 +p)

D) (1w

A vertical cut in a clayey soil with unit
weight of 19 kN/m? failed when the
depth of cut was 4.0 m. The cohesive

strength of clayis : *

* (A 76.0kN/m?
+(B). 8.5kN/m? .
{C). 38kN/m?

(D) 19.0kN/m?

48, Acco'rdilhzg' to IS classificati‘on, the
' range of silt size particles is : '
(A) 4.75mmto2.00mm
(B) "2.00mmto 0:425 mm
SZ<2AI9! ;

49.

50.

o1.

" (C) 0.425mmto0 0.075mm -

(D) 0.075 mmto 0.002 mm: -

Void ratio of soil mass can @'

(A} Take any value greater-than

Zero

(B) Be zerq

- (C) | Neverbe greaterthan umty

(D) {Take values between 0 and 1

only

Relative density of a compacted
dense sand is approximately equal
to: I

(A) 0.4

(B) 06

(C) .0.95
Dy 1.2
According to Terzaghi's theory, the

ultimate bearing capacity at the

ground surface for a purely cohesive

soil with cohesion ¢ and for a smooth

base of a strlp footlng is :

@A) 257¢
(B) 5.14c

(C) 62¢c

(D) 5.7¢c+.

~Contd.-




52.

Select the correct statement:

(A) Both negative skin friction and

skm fnctlonal re3|stance are

. '.:caused by relatlve settlement of

" soil

(B) Both negative skin frictior and
skin frictional resistarice are
caused by relative settlernent of

pile

- (C) Negatwe skmfnct[on is caused

53,

'by relatlve settlement of soil
and skin frictional resrstance is
- icallised by relative settlement of

(D) Negative skin friction is:caused

by relative settlement of pile
.+ and skin frictional resistance is

caused by relative settiement of

soil
Taqur's stability num_ber IS given by:
(A)C'Y(;"' R
B 0 ST
® o

C oy
© R

W
O Gy

SZ2A/9

54,

55.

‘Sandstoneis: .

(A) ~ Sedimentaryrock ©- - -

By ‘Méiaimo?phib"t‘oekz :

(C) 'lgneousrock

(D} Volcanicrock

The stress which is resnensi'ble for
retaining water in capillary tube above

the free water surface of the water

- body jn which the capillary tube is

inserted, is :

(A);:,S‘Capillary compress:on

..(B) Capa!larytensron :

56.

(C) ._ _Caplllarypore pressure
D)y None ofthe above .

_ The effectwe S|ze of partacles of sonl

) Alsdenoted by
® D,

10
(C) Dgy
D

(o) '_ ~60 | ‘.

57. A,_The ultimate settlement of a soil is

directly proportional to:

) Depth of the compresmble soil

strata
(B) Compressiveindex
(C) Void ratio TR
©) Both(Ayand (8)

(Turm over)




58.

A coarse-grained soil has a voids

ratio 0.75 and.specific gravity as
2.75. The critical gradient at which
quick sand condition occurs, is :

(A) 0.25

(B 050

© 075 |

59.

60

61.

- (D) +1.00. -

Buoyant unit weight équals the
saturated density : |
(A Multiplied by Unitweight of water
(8) Divided by unit weight of water
(C) 'Plus unit weight of water

(D) Minus ijnithéightofwétef

A phreatro Ime is defmed as the llne

within a dam seotlon below whlch

there are:
(A) Positive equipotential lines

(B) Positive hydrostatic pressure

(C) Negative hydrostatic pre'esure

(D) Negat’i\}eeduipotential'lfnes

The mmlmum centre to centre
distance of fnctlon plles of 1m
dlameter,_ls :

(A) 1.0mm
(B) 2.0:mm »

SZ-2A/9

(10)

62.

63.

64.

(C) :3.0m-

(D) 4.0m

Stoke s Iaw does not hold good if the

size of partlcle is sma|ler than:

(B) 0.002mm.: .
(C) -0.02m*
(D) 0.2m

The ulti}hete beanng capac1ty of a

sou |s

;_5 (A) .Loadat Wthh sonl consolldates

(B) Load at which soil fails

+(C) Total load on the bearing

" area.

(D) ' Safe load on the bearing

area

Raft foundation are generally

"preferred‘!to v.\k'hen the area

required for individual footing, is

more than :

~ (A) 25%oftotal area

(B) 30% of total area
(C) 40% of total aree
(D) 50% of totalarea

Contd.




65.

66.

67.

68.

The arrangement of supporting an
existing étructure-.by providing
supports underneath, is known
as:
(A) .Shoring
B)
(C)

(D)

Underpinning
Jacking
Piling

The most efficient traffic signal

is: |

(A) Simultaneous system o
(B)
(€)

(D)

Flexible progressive system
Simple progressive system
Alternate system

The rate of rise or fall of the road
surface along its length is called :
(A)
(8)
(©)
D)

Cant
Super-elevation
Gradient
Banking

In hill roads,” the: minimum sight

- -distance requiredis : -

(A)
(B)
(©)
(D)

Stopping sight distance -
Passing sight distance
Braking distance -

None of the above

SZ-2A/9

69.

70.

‘Which of the following methods is"

recommended by IRC for the design
of flexible pavement ?

(A)
(B)
(©)
)

Group index method
CBR method
Westergaard method

None ofthe above

The Indian Railway has been divided

into:
(A)
(B)
(C)
(D)

Six zones
Eight zones
“Twelve zones

Sixteen zones

71. Which of the following sleepers

(11)

"

®
®)

provide the best elasticity of track ?
Wooden sleeb'ér |

®
©
D)

Castiron sleebef |
| :Steel sleeper
.RCC sleeper
Maximum super-elevation on hill
roads should not exceed :
5%
7%
(C) 8%

(D) 10%

( Turnover)




73. ... The type of transition curves generally :

.. provided onhillroads, is: .. .

74,

75.

76.

(A} Circuar :
(B) Cubicparabola - .
(C) Spiral -

(D) ‘Lemniscate -~

The road fourdation for modern

- highways . construction, :was.

developed by .

(A) Tresgue

(B) Telford

(C) Telford and Macadam
simultaqggusiy o |

(D) Macadarﬁ |

(A) To check lateral m_qvemént of
wheeis" | . ;

(B) Toavoid danﬁégéfo inn;a} faces
of rails o

() To avoid discomfort to

~passengers - . -

(D) All of the above

For a vehicle moving witha speed of
80 km per hour, the brake reaction

time, in ordinary cases, is: : .

(A) 1sec

SZ ~2AM9:

... (B) . 156s8c ..
i (C) 2.0seci .

77.

(D) 25890 RS S TR I IR R

Bull headed rails are generally

provided on :
(A) Points and crossing
(B) Straighttangents
(C) Curvedtracks

- (D) < :Meter.gauge tracks

78.

79,

80.

(12)

Width of vehicles affects the width of :
A) Lanes "

“(B) Shoulders © "
{€) Parking spaces’

(D) Alloftheabove "
The maximum safe speed o roa ds.
dependsonthe ;-

(A) Type of the highway

(B) Type of the road surface -

(C) Typeofcurves = - -

(D) Alloftheabove ' {

‘"The head  of Public -Works:

Depariment-of any indian state s :
(A) .- Transport Minister..*
(B} Chief Engineer . ..

. {CG) Superintending Engineer

(D) Executive Engineer

. Contd,.' :




81.

82.

83.

84.

SZ=2A/9

- The optical square' is used to

- measureangles.by... . .

(A) Refraction: .
(B) Reflection: . . -
(C) Double refraction,

(D) Double reflection.

When the magnetic declination is

5° 20’ east, the magnetic bearing of

the sunis at noon will be :

(A) 95°20

(B) 174° 40

(C) 185° 20’

(D) 354° 40’

A line joining the point of intersection
of the cross-hairs of the diaphragm

and the optical center of the object
glass, is knownas :

(A) Fundamentalline
(B) Axis of telescope
(C) Axis of leveltube

{D) Line of collimation

The error which is not completely.

eliminated in reciprocal leveling, is :
(A) Errordue to curvature
(B) Errordue torefraction

(C) Error due to non-adjustment of
line of collimation

(D) Error due to non-adjustment of
bubble tube

(13)

85. . The contour lines can:cross one

86.

87.

88.

another on map only in the case of:
(A) An overhqng:i.n_‘gﬂqliff .

(B) Avalley : o

(C) Aridge

(D) Averticalcliff

Acurve of véryin'g-;i re‘idilu‘s is khoWn as:
(A) Varying curve

(B) Compound curve

(C) Transition curve

(D) Reverse curve

The method of finding out the
difference in elevation between two
points for eliminating the effect of

curvature and refraction, is :

(A) Precise leveling

(B) Differential leveling

(C) Reciprocal leveling

(D) Flyleveling

The horizontal angle between frue

meridian aind magnetic meridian, is

known as :

(A) Convergence

(B) Magnetic declination
(C) Bearing

(D) Dip

(Turh over)




89. A relatively fixed point of known

elevation above datum, is called :

(A) Benchmark

(B) Datum point |

(C) Reduced level

(D) Reference point

SZ-2A19

go.

‘The curvature of the Earth’s surface,

is taken into account only if the extent

of survey is more than ;-
(A) 100sqgkm

(B) 160 sqkm

(C) 200sqkm

(D) 260 sq km

(14)

« -Contd.'
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